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13 Refer to the network shown in Fi

g. 3-30 and find (a) R,
resistor; (b) L, if each element is a 1

. if each element is a 10-Q
0-H inductor; and e C
capacitor.

eq if each element is a 10-F
14 In Fig. 3-31, let elements A, B, C, and D be (@) 1-H, 2

respectively, and find the input inductance with x-x’ fi

-H, 3-H, and 4-H inductors,
short-circuited; (b)

rst open-circuited and then
1-F, 2-F, 3-F, and 4-F capacitors, respectively, and find the input
capacitance with x-x’ first open-circuited and then short-circuited.



Figure 3-30

T ? ¢ See Prob. 13.

& - ®
D | Figure 3-31
‘ l See Prob. 14.
A ¢ B oX
Input c




Figure 3-36

See Probs. 20 and 21.

20 (a) Write nodal equations for the circuit of Fig. 3-36. (b) Write mesh equations for
the same circuit.

i
120 200 10Q
Jic
v + =
v, (_) 5 pF.':L.-:vC 8 mHng

ve(0)=12V,i, (0)=2 A

A u't . .
and the dual initial conditions. (b) W 7 shown in Fig. 3-36. Specify the dual variables
mesh ' : rite nodal e : .
sh equations for the dual circuit, Quations for the dual circuit. (c) Write



